871 (29 %) OlAIOF 1-26 &

FHE4
A
1. OJAlOF= +=719] OF=0IULE? (AF1)
2. OJAIOR= oL F= X0 thall A ol AZILE? (A} 2)
3. E3of Y= we? “WHHE sitliche A= ()R ThAsE AR ( =012t (AF3)
4, FOlOF A9 BE9| U E A7IAITHL SlLE? (AF4)
5. OJAlOFs A 208E HE A
6. A% (seraphim) Y707} OAIQIH| S4 Fol& JLE? (Al6)
7. OJALOF7} OFSIAONAl St W2k Zoo] U= we? “( )W ol (- )Q] OFE0] A5
CEXEHE Ol&2 ¢17] U= &= BEA40] J1FE7]o] Eakst]” (AT
8. ‘ol AU & 5l"Z HIRE &7 (AF)
9. FAIA o]ATHdE Holdl mio] “Yofl= () AFRHOIQ Foll= () AFFolgt 80| B ¥e
Hy ojAgtd e A712]2} (AH9)

7} sl el A eo] BT 7E ELE? - (Al 10)

10.
11, 1= 70] #ao) A 5 o] Yhrha 817 (AF11)
12. 9} 27 ZXSIALIOILE & 201712 (AF12)

AATHAL 5FLF? (AF13)

13. 0L HIEE SOM HHEES
14. OJAIOF 14 Fof AFHA] Z2 Lieh=?
Sg4l 3) ol 4) HpEE
12kl SHE? (A 15)

A2 9)
1 20| Mg Ao

1)
15. BLeto] Eu|shAl & E QI o



16. eto] geh ZIomE] (- )l Eak ()9l ZELRVFEREZ0IEY (AL 16)
17. Ok59] F0] 2lg Held "dHURE &5 mol 718 52 7K HoZlol 2 () 77t EE
423" (A1)

18. ftAE “LE0l 28 () U 2 53841 ot (AF18)
19. OJAlOF 19 & 22 HE B g A.
20. OJAIOF= HH 502 =it i &2 THHA] offmat 7EA0] thoto] AxRe} o 37} EALE?

(A} 20)

21. OJAIOF 21 ZHo]| 7|28 A& WA &2 LiEhk=?
1) FrF 2) ofgHor 3 4

22. OJAtOF 22 Foll 715 H ARICZEA E9Jot FA|7|2F Z0] =115 B ARR2?

23. OX F| . OJAtoF 23 Foll = 7 &1 ti¥ALE "THA 9] o)Lt

2? ol (- )o] eAIE Gotal (- )7F FAsHsY” (AF24)

rr

24. Z5of gt

25. OJAlOF 25 & 8 AS A&

N

26. OJAIOF 26 A 4 A S B A,



